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BIRE 1.

Let f(x)=sinx. Find the tangent lineto y=f(X) at X= %

%

BIRE 2. (REEH] 8-1)
Let f(x)=x*+3x’-4x-5 and P is a point on the graph of y = f (X) . If the slope of the tangent
line to the graph of y=f(x) at Pis 5, find P.
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BIRE 3. (KiEHH 8-2)

Suppose the tangent line to f(x) =ax®+bx*+3 at x=-1 is y=3x+4, find @ and b.

BIRE 4. (FEHEH 8-3)
Find all tangent lines to f (X) = x* + x+1 passing through (1,2).
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BIRE 5. (FiEHERB 8-4)
Suppose that there exists two tangent lines to f (x) = x* —2x+2 passing through P. If the slope of
these two tangent lines are 6 and —2, find P.

BIRE 6. (FiEHEEfH 8-5)
If the tangent line to f (x) = x> +ax® +bx—8 at (2,-10) has the smallest slope among all tangent
lines, find a and b.
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BIRE 7. (K% 8-6)

Find all intersections of f(x)=x®—4x+1 and its tangent line at (1,—2).
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